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Warm Up

Simplify the following (all exponents must
be positive in final answer):

-4 -5

BT B u.
Different Strategies:

5 > -+ -5
Ly
34X5%2X-4(6-5 1 Muﬂff’k} #s

M 2. Make al| exponents

X'y pesiive
A4 % 3. Gimplify

%f

Y XNy 1 Mgl #5
5+-4 2+°5
&L‘ D ‘6 2. Muﬂ‘lf)b variables
-3
A4 X Y
AN, 3. Make al| exponers
3 PMﬂW&



ERIOD
m Homework Questions? [z

Negative Exponents

Write each expression using positive exp Then the exp
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Simplify each expression.
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What do you think if we see something like this?
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Negative number to a power:
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The power is applied to what it is right next to. If you

have a negative number, that is really -1 times the
number.



 All work must be done in your
notebook.

« Each expression must be written
with all positive exponents before
you begin to simplify.

« All final answers must have positive
exponents.



What Did Professor Utterbunk Say When Acked:
Have You Ever Heard of the Planet Saturn?

( Simplify each expression. Write the letter of the answer in the box containing the exercise number.)
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Additional Practice
All work should be done in your notebook. Final answer should contain only positive exponents.

Remember: Whenever a term is raised to a negative exponent, that means you are dividing by that term to
the positive exponent. When you are dividing by a term, it gets moved to the other side of the division bar.
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Homework

Finish classwork + Additional Practice



